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HISTORY
( Major )
Paper : 6.3
[ History of Europe (1871-1945) ]
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions in 1 word or
in 1 sentence each : 1x7=7

Tere il 2T dfShR Teg @bl R 37 9Bl TS
foran -

(@) Who was the first President of the Third
French Republic?

PO 0] SITEn] 2% oS PR Wi ?

(b) Who was Emile Zola?
Up e iecicifeanho Pal:

(c/ Name the signatories of the Triple
Alliance.

4@ e FreaRpReeas = for |

(d) Who wrote Mein Kampf?
‘@ % @ e 2
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(2)

(e) Who was known as the ‘honest broker’ in
the Congress of Berlin in 1878?

sbav 59 el TEARS E IFE A 4O
e @ 2

(/i Who declared himself to be ‘the prisoner
in the Vatican™

e e “cofbaree =7 = camen wffes 2

(g9 Who was the founder of the Fascist Party
in Italy?

TS (o8 7o AfSH1eRe (e eifee 2

2. Answer the following in brief : 2x4=8
fAafeife epeias oY Ted for

(a) Who were Depretis and Crispi?

fefafbe s fasf com =nfes 2

(b) Write two provisions of the ‘Algeciras
Conference’.

‘Algeciras "3 451 W &7l |

(¢) What were the two important objectives
of the League of Nations?

wIe1KEd 701 aeee e 15 & 9

(d) Name the two leaders of the Bolshevik
Revolution in Russia.

FoAE Fei0RlSs [Me<< 780 GTe| =% f |
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(3)

3. Write short notes on (any three) : 5x3=15
5y (ol forst (R cren fofRin) -

(a) Boulangist Movement

TERME SCHE

(b) Treaty of Lausanne
(oA pe

(c) Rome-Berlin-Tokyo Axis Power
Q-5 &% *fe

(d) Locarno Pact
= pfe

e} Benito Mussolini

SRR GICH

4. Answer any three of the following questions :
10x3=30
frufiRe apza [ e ot Te fors

(a) Critically analyze the internal policy of
Bismarck.
e SeRAd  Aifed TGRS TR0
EIREMSIN

(b) Under what circumstances did Russia
sign the ‘Non-Aggression Pact’ with
Germany in 19397

s o1 2RTER AL FOIR GEHAAE FTO 3508
56 SIS §f’ 5% < ?
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(4)

{c) Account for the rise of Fascism in Italy in
the post-World War I period.

22w g =[98 Frere 2Hifre @Fhems Suma
T AT 41 |

(d) Account for the success of Bolshevik
Revolution in Russia in 1917. |

3539 B9 FOIR FERee RYET  TEeOR
AT 41 |

(e} “Berlin Congress created more problems
than it solved.” Justify the statement.

“Fifef IWACR ATH AW FASF WA
SR, i SfRfee 1 Sfenr el aue
4 |

(f/ Examine the role of United States of
America in the Second World War.

faen Rgme wcaRel g S “Ricamn
&1 |
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